Y4 Miss Smalley and Mr Brown’s Maths Groups – 15.06.20 – 19.06.20

Monday 15th June 2020
Questions from myminimaths.co.uk – Week 9:
Circle the largest number in each set of values below. 
1) 138 or 147
2) 401 or 388
3) 76, 100 or 81
4) 410, 366 or 404

Write each set of numbers in order, starting with the smallest. 
1) 520, 513, 564, 550
2) 27, 111, 49, 58
3) 1205, 1198, 1677, 1280 	

Write each set of numbers in order, starting with the largest. 
1) 3500, 3369, 3602, 3448
2) 99, 399, 199, 1099, 799                                                     Challenge
3) 603, 609, 601, 621, 617
4) 431, 4031, 41, 444, 4134
5) [image: ]836, 1086, 937, 1093, 879
6) 2780, 2820, 2078, 2280								









Video to help: 
https://myminimaths.co.uk/year-4-week-9-order-and-compare-numbers-beyond-1000-monday/
Answers: 
https://myminimaths.co.uk/year-4-home-learning-week-9-order-and-compare-numbers-beyond-1000-answers/
	Date: 16-06-20

	LO: To be able to represent hundredths on a place value grid. 

	

	Fluency - https://whiterosemaths.com/homelearning/year-4/


	Select Week 2 Lesson 4 at the bottom of the page for the video clip to support your learning.

[image: ][image: ]Write the decimal that is represented in each place value chart. 
[image: ][image: ]
[image: ]Use place value counters to make each number. Draw your answers on the place value charts. 
[image: ]
[image: ]
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	Reasoning and problem solving

Complete the part-whole models. 
[image: ][image: ]
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	Date: 17-06-20

	LO: To be able to divide 1 and 2 digits by a hundred.

	

	Fluency -  Select Week 2 Lesson 5 at the bottom of the page for the video clip to support your learning.
[image: ][image: ]




Use this method to solve the following: 

4 ÷ 100 = 
5 ÷ 100 =
6 ÷ 100 = 

Use the same method to solve the following 2 digit numbers: 

72 ÷ 100 = 
82 ÷ 100 = 

___ ÷ 100 = 0.23

___ ÷ 100 = 0.56


Complete the sentence. 

When dividing by 100, you move the counters              place to the ____________________.



	Reasoning and problem solving
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[image: ][image: ]Questions from myminimaths.co.uk – Week 10:
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[image: ]Arithmetic Questions:
[bookmark: _GoBack]
Challenge: 
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Represent the decimals on a place value grid
and in a part whole model.
How many ways can you partition each number?

0.27 0.72 0.62




image13.png
To divide the number by 100, we move the counters two columns
to the right.
What is the value of the counters now?
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Dexter uses counters to make a 1-digit number.
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Describe the pattern.

7,000 =100 =70

700 +-100=7
70 +100=0.7
7 +100=0.07

Can you complete the pattern starting
with 5,300 divided by 100?




image16.png
Teddy says,

45 divided by 100 is 0.45
so | know 0.45is 100
times smaller than 45

Mo says,

45 divided by 100 is 0.45
so | know 45 is 100 times
bigger than 0.45

Who is correct?
Explain your answer.
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Calculate the next two fractions for
each of the sequences below.

1 17 19 21
) 100 100 100
7’ 7’
1 3 5
) —— —— —
10 10 10
7’ 7’
60 55 50
3.)

100 100 100
7 7
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Calculate the next two fractions for
each of the sequences below.

1) !
’ 10
2.) 2
’ 10
35

3.)

100

2
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4
10
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Calculate the next two fractions for
each of the sequences below.

1 65 74 83
) 100 100 100
7’ 7’
2) 29 50 71
’ 100 100 100
7’ 7’
65 135
3) 1

100 100
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Calculate the next two fractions for
each of the sequences below.

0 5
1) — —
) 10 10 1
7’
2) 44 54 64
’ 100 100 100
7’ 7’
5 17 29
3.)

100 100 100
7 7
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Rana looks at the following list of
fractions.

9 6 3 (]
10, 10, 10, (J..

Rana says:

It is not possible to continue the
sequence past the forth fraction

because it is equal to zero.'

Is Rana correct?

Explain your answer.
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84 ~ -
4 - 6
43 X 6 = 234 x 7 =
3,298 +5411 = 7435 +3,112 =
2,637 -1226 = 8,842 -3,238 =
423 = 725
3 5
154 x 3 = 53 X 8 =
4,398 +1,331 = 4,438 +2,154 =
548 - 229 = 6,659 - 3,381 =
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Karandip is counting in tenths and hundredths. He has covered two of
the fractions in each of the sets below. Calculate the missing fractions in
each of the sequences below.
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Holly is counting in tenths and hundredths. She has covered the
middle fraction in each of the sets below. Calculate the missing
fraction in each of the sequences below.
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Graham and Ali are both thinking of a 3-digit
number.

Ali's number is 741 and is 342 larger than
Graham's number.

Ali then writes down a second number that
is 208 less than his first number.

Graham also writes down a second number
that is 189 larger than his first number.

Write all four 3-digit numbers
in order, starting with the
smallest.





